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QUESTION 1

Which two statements are correct regarding containers? (Choose two.) 

A. A container is a lightweight, standalone, virtualized Java-based operating system. 

B. Containers are isolated software enclaves in a virtual machine. 

C. Containers are available for both Linux-based and Windows-based applications. 

D. A container is a standard unit of software that packages code and all its dependencies. 

Correct Answer: CD 

 

QUESTION 2

Which two Amazon storage services are used to store data for Cloud Volumes ONTAP? (Choose two.) 

A. Amazon S3 

B. Amazon EFS 

C. Amazon FSx 

D. Amazon EBS 

Correct Answer: AD 

 

QUESTION 3

An IoT company is building a mobile device. The development team wants to move data collected with the mobile
devices to a file share hosted on AWS that would be used as the ingestion source for a machine learning pipeline. They
have decided to host the file share using Cloud Volumes ONTAP. 

Which software would you add to the mobile device to facilitate this task? 

A. StorageGRID 

B. ONTAP Select 

C. SANtricity 

D. Element 

Correct Answer: B 

 

QUESTION 4

Which feature enables replication from Element volumes to ONTAP? 
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A. SnapVault 

B. Snapshot 

C. Cloning 

D. SnapMirror 

Correct Answer: D 

 

QUESTION 5

Which two hypervisors are supported for use with ONTAP Select? (Choose two.) 

A. Hyper-V 

B. Solaris 

C. KVM 

D. ESXi 

Correct Answer: CD 

 

QUESTION 6

Which statement is true regarding application containerization? 

A. Application containerization requires the Linux operating system. 

B. Application containerization provides increased portability. 

C. Application containerization increases performance of virtual machines. 

D. Application containerization is designed for massive data sets. 

Correct Answer: B 

 

QUESTION 7

Which tool would be used to allocate additional storage to your NetApp Cloud Volumes ONTAP clusters? 

A. OnCommand Cloud Manager 

B. Cloud Insights 

C. OnCommand Unified Manager 

D. Cloud Sync 

Correct Answer: A 
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QUESTION 8

Which Cisco-validated design (CVD) is built upon the Cisco Unified Computing System (Cisco UCS), the Cisco Nexus
family of switches, and NetApp storage controllers (FAS or AFF)? 

A. FlexPod 

B. HCI 

C. E-Series 

D. StorageGRID 

Correct Answer: A 

 

QUESTION 9

What are two methods to subscribe to Cloud Insights? (Choose two.) 

A. NetApp Cloud Central 

B. NetApp Sales 

C. NetApp Support Site 

D. AWS Marketplace 

Correct Answer: BD 

 

QUESTION 10

Which two statements describe the benefits of using public clouds? (Choose two.) 

A. Applications are always less expensive to run in the public cloud. 

B. Public clouds are always used for hosting tier 1 and financial applications. 

C. Public clouds provide an environment for development, testing, and disaster-recovery applications. 

D. Public clouds support multi-regional applications without the expense of collocating data centers. 

Correct Answer: CD 
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